Marking scheme Physics 2015 Batch (20]4~m'|rch)
M.C.Q answers
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iii.
a)  1.45mm .01
b) 1.50Mm o 01
iv.
a) Meter ruler .......... 01
b) Place the spherometer on a sheet of paper and press to imprint -........01
Measure the distance between adjacent marks produced by the spherometer
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vi.  Thickness of a Small diSC se.crercsiimirmmmeniicesscasennas 01
vii.  Divide the circular scale {nto more divisions ... 01 . |
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(¢) fractional error in measuring h increases
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d) (1) travein CTOSCO)
ma travelling microzcope to the ring ol
! Jline FOSCOTe P
her focus the horizontal cross wire of the travelling microscope (o he o e
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B-Translational motion .o
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¢ A-Will rotate with constant angular velocity
B- Will move with acceleration weeemsamsescsisssnmmissnne, 01
d)
i, Conservation of angular momentum woveeeenncnnen, 01
i Whenno external torques act e 01
vre 1 % ___1 i'v_f- 2
iii. 11~EMR 7 IZ—Z(Z)R
1§ 1) L A 01
Lwg =l ——=MR*w5=>MR* 0
2
) == () et @rrrseerensserininessrssssnssass 01
¢)
i+ Awill perform both rotational and translational ....................... 01
ii. | No“Because, the energy lost by the weight B is now used to producs by
rotational and-translational motions" .........eeeeninens 01
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Firstuse the tuning fork with the lowest frequency because to make sure that the wireislorg

c‘nough l(? get the resonance length for all frequencies .....oeevcenencerninn. 01

?laiit taking data with the tuning fork with highest frequency because to make sure thatthe
undamental mode of resonance is taken in increasing the resonance length for successively

decreasing freqUENCIes wu...vmmuumumsssmemmsrnnsnsssoesenn 01

f;rst bring tlTC two pegs close together and sounded tuning fork pressed on the sonometer a2

increase the distance between them until paper piece thrown for the first time
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Vibration of amplitude is large .............._ 01
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i, Explainusing Bernoulli’s «. ¥ 1

b) :
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i 180 kmh T = " 3g00s
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V2 U2 2as , 507 = 07+ 2aX750 L — 0

11000 X5 55000 :
, F= ma,F—————-N=—-3-—N , : 02
1y 11000 X50%~7X 11000 X0* ' '
i, p=l = W =458333:383W cisiar s 02
iv. .air resistance and frictional force may T 01 .

ii.
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c) Drag force s less

- - {Total-15}

icle the force for the f.iecelera'nm%\I of passenger will

~a) Inthe instance of sudden deceleration of the veh
i1l hit the wind screen(accordmg ewton’s first law)

be provided by the seat belt, unless passenger wi

" b) Passengergjated in rear part will be thrown towards tﬁe wind screen and driver

o - 02

1.Jhon; F=ma .

. F=80X 300 N=24000 N v 02
, Helen; F =ma : ' :

: F=60 X100 = G000N wecvvurrusmsimmmsussssessireasesest 02
f‘;'.'Jhon; I= FXt -

[ 204000 X 0.1 = 2400NS crmrrsn02

_ Helen; I=FXt
1=6000X 0.1 = 600NS wcovcunmrereeersees 01
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3. the area of acceleration vs. time graphs represents change in velocity, fina
10m/s therefore their speed = [0m/s
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3)
a) Light, string, water waves (T) i
Sound (L) wv..oovvvvveeriere B U (1)
B) LL7SM oo (1)
2. 1000/7 = 142,855 vovveoeorrrrrese (D
3 V=425 X 175 oo ()
=249375m8™ oo (1)
) () 25m..... 0o (1)
2) 1) Ve=(10X25)2=5ms! . ... (1)
i)Vt= (10X 1.5)* =387 ms" ... )
D With the crest ravelling faster than the trough,
the suggested shape of wave afler Qis:
R ()
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d) (1) figure P progressive and StENNg ooy (1)
2) A2 =8 X0.05 '
R RO .
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Each square represent 1 “m {only shape), :.1),.....co - B (1) {Total-15}

Final marks =[50+ _%__,

Scanned with CamScanner





